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Verbuchung: 

a) Verbuchung des Verkaufserlöses bei Erlös > Buchwert: 

1. Umbuchung Erlös: 

_______________________________________________________ 

an _____________________________________________________ 

  

2. Umbuchung Buchwert: 

_______________________________________________________ 

an _____________________________________________________ 

  

b) Verbuchung des Verkaufserlöses bei Erlös < Buchwert: 

1. Umbuchung Erlös: 

_______________________________________________________ 

an _____________________________________________________ 

  

2. Umbuchung Buchwert: 

_______________________________________________________ 

an ____________________________________________________ 


